BIRAE

15

1] %

3,

5
Bal

S
I

A

266

WWW.Zgjzv.com

oo



A5

ONTEN1E'§ AT SERIES
ANGULAR TRAVEL
ZINBITIENITES ACT UATO R

At Series Angular Travel Actuator

, =
AT IR RBIBEE 02 ﬁ&_tﬁ 1

FHFIR
AT HATESAIIRIESEIRR A R IEH S St R TR E. ... 06
B TR I R T35 oottt 07
IR .ottt 08
FOAITIE( BLEE TR ..o
W ERTHUTESIAARISMER. ..o
BAERHITHIMISRA--t HH1H%E ( Nm )
BRERRHITHE - AR (NM ) e
HUTHRD--RTZR (MM ) e
FRHFD--RITZE (MM ) et

BEiTiE eI T

Straight Stroke Pneumatic Actuator

THIRFIUER oottt 16
FERRZENE coo ettt 18
SDIIBIREDR ..ot 19
BUTEEITIIEE oo 20
S EF BB TR HHESD oo 21
B EF AR BRI TER I HHE ST oo 23
S ERBHUATEEIMIZRT e 24
BRI TR IR oottt 25
S ERHUTER IR T v 26
SUERHUTER-TMITRETHEFAIIMERT oo, 27
XU EFHUTRE-TM2/3/ATREMEEEFEHNIMERT oo 28
SAEFRHATE-SM1/2/3FhEMERPEFHIMERT oo 29
B DU RTHEBR T I v vvveeeesee st 30
BHEIGNSIPUTRERRBEFMN 31
Heavy duty fork pneumatic actuator instruction manual

TAEIRER ottt 32
SEIBERELR oot 33
ERIEZRZETIRI. ettt 33
FHEEZHEZR oot 34
FAFHBBEHZR ...ttt 35
BRI GRANIRIRTTIE oot ees 36

TRIERTUFF. .ot 36




SRRIn TR

EiFBET

| &&6U48/Green Innovation
FeflERELE SEAZFREMNE. S8 1. &8/~
BIIRSS SR REINE$EFN TIERMETFINER,

| HE(E R/ Integrity Quality
REERNABARFEENESA. RIVAENSFE—NURT. 5—
Hrem. B—UER SEMEIFREH FRE.

| #r%¢m51%/Emerging Market
MK R RS IERNERE TESHE. Al FAINZU R
HHENmRERGTIERTE AEEEWMARTRRIE,

| 258 &/Win-win Cooperation
EMNATDHDTHASREFRIERN, BEINEE MRS, LU
GXEEPRERASZEIKBNEXR LMEEEZR.

e

g epdi

Intelligent Manufacturing
EHERFHNOES BN BB IEREIEZ S| RT
A, IS B2 ERHRE BB ST A BT RS |, FFREE , B
FTask. FETSCIEREER. EHeer. EaRT. Ei
BRERS EAEFLIMETZIBE BN E.




I 04

®

ERAECES)

e RaRIRET
Bk

TS
2 Joo

(5 Jike
%304

&
355304

SR
PTFE

i
B4R
AR
PTFE
PRAZEE
20Cr
LR
PTFE
LHOERE
TSR

L

BUbA4R
LS

PTFE

s

20Cr

HER

PTFE
EHIRETORE
TR

T IRETIRE
iEIN304

AT IER
TH55M304
EE

%48
EESHEIR
PTFE

AmlzMEIFIESRAE

AR
PTFE
EEORE
TSR
e
60Si2MnA

® 6 6

@ imEORE
THSIRAR

i
7]
IR
@ N304
PR{ZIEIE
@ EEEN304
@ PROIIEES

AEEIN304

o5 s



msEERAs =

@ HrLE i
LT
[« #]
- BRSNS

=

RIS p=R | FRIRTTIE

MHEESIESR  LBEEERA SRREEY) , R

FRR R R S AR5t SEIREE .

M TRRBMMHSIOE BRIESTIF

AT iTRanltRiESCIFM AR EEHS
ShEHIRE{TEIE

EREHE
. WS BESAERSLEIRFHITSEE
W& IAENE AT,
FHAERRIRR SERILERmESRIR.

AP EREEE R, TRE , ERCREALE.
— g p s FHRIETUIRAEF IR, IR SHRAIE.

miTEERiER

EREMNATISNNITREE  BRMERNAFHE  EREENRTHE. TERIEBNRIEN20% SREDTE. BmSRESA.

B KFEREIFEBHINEIEM30% % 2E,FFEBIITSNEIEIN60% R 2(E; FEE R SAREIXH N—— SHITRIENSHET N, 1A TR RIS IS,

RIS RIS R LN EEIN0% L2 E, RERESEEEGERAEN , ERIGNIAES , MTEIERIHT RE. 815 AN N
s N 1B E E R EE KEARASE, BTSRRI A,
::’59
SEEREEREIN/. HERRIESZE,

el - 1 -] =P F
MITRAI RS SSmELE. O W, R,
HITRSEIIZEEE I , EEYNEGERERNES., MTESEI ISR/ , M@ HHEUE ,

. ) A, . . e . EIlEES ft Yivi= 38 BN EERE.
RO SHBHATEME, REE , SHHTRNRIBEMER MR IMEERESSRRES | LgE o
HWSEEDEIINHTSAREFEMED , FXAREER , BELRE. FMSETESENS , B iREnFFRIIAR. EIRHNFER.
HLEEEE,

L
1 ‘

| ) |

L .

EfI=E

Bl 6DR5010- ONNOO- CAALEEEY
Bl 6DR5010- -ONNOO- CAAIARZEY
W 6DR5015- -ONNOO- CAALffISHE
B 5R{FRRUERZ S

H 6DR4004-8). 6)

B YT1000LH Uz EE

W YT2400ILE5REphI2

FRfikHE

W 8320Gl74TEE A" =&

B SCG551 A001MSEEELE

B SCG551A002MSEEINELEE]

W EF8314G300=iFHIE +{RINFE

B EFG55 1A001MSRAIREALLE]

B EFG55 1 AO02MSHIEINELRE]

B NF8327B102[RIE +iNizE&ES

B WSNF8327B102[RIR + FNiEiNIEELS

TEER

H AW20-02BG 2. 1/4" NPT
Bl AW30-03BG-2, 3/8" NPT
Bl AWA40- 04BG-2. 1/2" NPT
Hl AC301A-02, 1/4" NPT
M AC401A-03, 3/8" NPT

M AC401A-04. 1/2" NPT

PRALFFK

M SZL- WL-AEBE

B LSXA3K- 1ARRIR1EE

B LSXYAB3K- 1A[RIELEE +{KiR
M APL- 310NEEE

Il APL- 410Npf#%3/4" NPT

Il APL- 510Nff#83/4" NPT

B NJ4- 12GM-N&Z

EL{thpi4

W 5RHEEAQ3000-03

W 1Y T300
S5EIEVPA3145- -03

B SiEVPA3145-04

W 3i{1EEYT400D

07



-

I‘IE,EIE WIEAHhITES:
A AD#RS |, B SHEsaZEamizs) , BHmErsiesE , @FE
BAMS , R SHERIEERATPEE , BHimIedttiess | ®iIxE.

— i —

i B

BEMMITEE (SH. WEEX) -

AO#HS | FE=SHENEERRMIEE) |, st
heke | IS

HITRRRS | SR ERTEIEE) , BtHHIReT
hess , | IxE.

B

A B

BIEMMITER(SKI. WIS :

AOAS , FRE=SHENEERRE |, EHims
RIEthESE | IR,

HITRRRS | RSN EERE RN , HHAhImEe
Hiest , @iIAE. .

=

[ |
T ] v ]
A B A B
AT-083 AT-092 AT-105 AT-125
31 4.6 6.8 8.9
3.6 5.2 7.7 10.1

A B A B
AT-052 AT-063

SHERESR 14 2 2.7

B{EFRES 15 21 2.9
AT-160

SUEFER 13 20 31

B{EHEE 15 24 35

AT-210 AT-240 AT-270 AT-300
47 67 97 110
55 80 118 130

1. BEREENIZRNEE 2. EENFE.

AT-063
XUEFREE 0.12L 0.21L 0.3L
BEREE 0.16L 0.23L 0.34L
AT-160
SUEFREES 2.5L 37L 5.9L
BIEHEE 2.2L 3.2L 5.4L

AT-083 AT-092 AT-105 AT-125
0.43L 0.64L 0.95L l6L
0.47L 0.73L 0.88L 14L

AT-210 AT-240 AT-270 AT-300

7.5L 11.1L 17L 23.8L
7.5L 9L 13.9L 29.7L

SENRTFHSED. FXTE. SEPRRDMERL TENT:

Fh/45 = SHTHIR ( FREATR SRR ) X [ #

B 08

SEH (Kpa) +101.3] SOREL/ 435

101.3

B 15 ERAS =

\

AR

dnfariTE ( BS4wEl)

how to make orders?

fHugn:

ATZEZ 3HERIBAER FTRR X 160mm , 10tR58EE FRESITRES0.5MPa
17127990 R &R, Bc U & s F ot SEBIMENR IR HIRE TER.

’A F S‘-’l 6 0‘-’K 1 O‘-‘9

of -l

s|-[r]

-

052 -
SEIEARYT R

400 -

SUER

or
HENE

pric:=c)E4
<1772 > <EFE >

RS
< SIRHIERS , @IINREE >

INERE
<ER FEHEEENTPHNREE >

EEASHHITE
SUEF
BER <N BE>
BIAER <HESRIThEE >
" BMAE<mm>: 052, 063, 075, 083
092, 105, 125, 140, 160, 190, 210
240, 270, 300, 350, 400"
SUEFE < AT & g >
HO81REE |, tnESIRES/90.4MPa
H101R3#E |, IRESIREDH0.5MPa
H12iR38E IR ESIREDH0.6MPa
172 N180E
1TRENI0E
FBFIEETENE
R EFF/IEfER/ SR
BRI B X/ RIEF/ SFFE
BB < SRREHERMY2TENR>
ToEK /SR
Fo iR B s Fahiiig
Bk E s Fabiiig
AECE
M Hi880~120°C
T HiR-19-80°C
A {&iR-40~19°C

09 I



B IEEERAS

¢
- ST 2N

ARV TR IHIES 1% E BERMATHE--SIAE (Nm)

SIENEHEE

 seoewme |
RAC K & PI N I O N o W SEEEHIHRE

9.2 6 9.9 6.7

b e V' memis EYEFIITES ATS-052- K10 115 67 124 8.5

3|  IHERHEE B SEEEHEREE | EENEHHESTE K12 13.8 9.1 14.8 10.2

w ) = K08 18.2 124 16.7 10.9
5 = = ATS-063- K10 228 15.6 20.9 13.7

K12 27.3 18.6 25 16.4

K08 232 16.9 232 16.9

ATS-075- K10 2838 21.2 29 211

90° - ’ iz m 0 K12 349 25.4 347 253

5 KO8 37.4 25.8 36.8 26

ATS-083- K10 457 323 46 316

K12 56.1 389 55.2 38

KO8 52.9 35.2 55 37.3

,—

§1ﬁmm17*nmSR4“Eﬂ'JHHH§E ( Nm ) ATS-092- K10 66.2 44.1 68.7 46.7
. K12 79.4 53 82.5 56

TURRIHE K08 816 53.5 78.7 50.6

o 3MPa 04MPa | 0.45MPa o 5MPa 0 6MPa 0 IMPa | it : EEEERY--Hh5 ATS-105- K10 102 66.5 98.4 63.3

K12 1225 80.6 1181 75.9

FHI 2R | FHALER | FHR’UER F?l gheR FHI ZEeR J-Tll <08 117 75 1ot 84

ATD-052-XXX 12 16 18 20 24 28 FO3/F05--11*11 ATS-125- K10 146 94 157 105
ATD-063-XXX 22 29 33 36 44 51 FO5/F07--14*14 K12 176 113 188 125
ATD-075-XXX 30 40 45 50 60 70 FO5/F07--14*14 K08 20> 136 206 137
ATS-140- K10 256 169 258 172

ATD-083-XXX 47 63 71 78 94 110 FO5/F07--17*17 12 T E G 206
ATD-092-XXX 68 90 101 113 135 158 FO5/F07--17*17 KO8 309 199 333 223
ATD-105-XXX 99 132 148 165 198 231 FO7/F10--22*22 ATS-160- K10 386 248 417 219
ATD-125-XXX 150 200 225 251 301 351 FO7/F10--22*22 K12 463 298 °00 33>
e /F10-- KO8 531 356 495 320
ATD-140-XXX 256 342 384 427 513 598 F10/F12--27*27 ATS-190- K10 664 446 618 400
ATD-160-XXX 399 532 598 665 798 931 F10/F12--27*27 K12 797 535 742 480
ATD-190-XXX 638 851 957 1064 1277 1490 F14--36*36 K08 624 456 608 440
ATS-210- K10 780 570 760 550

ATD-210-XXX 798 1064 1197 1330 1596 1862 F14--36*36 (12 936 684 91 660
ATD-240-XXX 1156 1539 1731 1924 2308 2693 F16--46*46 KO8 883 653 886 656
ATD-270-XXX 1755 2339 2630 2924 3509 4094 F16--46*46 ATS-240- K10 1103 816 1108 821
ATD-300-XXX 2289 3052 3433 3815 4578 5340 F16--46*46 —_— 1323 979 1330 98>
e - KO8 1444 1081 1258 895
ATS-270- K10 1805 1352 1572 1119
K12 2167 1623 1887 1342
K08 1754 1166 1697 1168
ATS-300- K10 2193 1458 2122 1460
K12 2630 1749 2546 1752

I 10 11



A
I ] |
L~ [~
E @@ =
i
£ %# S
~I 1
L] mn'mmmﬁ&
T l L
= = J: ﬂ
Ui\ 'ﬁ%
a1 S | ®
} ~
/63“?%‘;&\* : Mé

=

A

|
|

HATHE--RTR (mm)

HI=

AT-052
AT-063
AT-075
AT-083
AT-092
AT-105
AT-125
AT-140
AT-160
AT-190
AT-210
AT-240
AT-270
AT-300

I 12

147
168
184
204
262
268
301
390
458
525
532
602
722
742

72
81
92
98
110
128
138
158
189
210
245
273
324

108
120
129
137
153
175
192
217
260
285
319

FO3/(p36/4*M5
FO5/(p50/4*M6
FO5/¢p50/4*M6
FO5/(p50/4*M6
FO5/50/4*M6
FO7/@70/4*M8
FO7/¢70/4*M8

F10/¢102/4*M10

F10/¢102/4*M10

G172 NAUREFHE

45
N

[EERERER YT

F03/¢p50/4*M6
FO5/(p50/4*M6
FO7/¢70/4*M8
FO7/@70/4*M8
FO7/¢70/4*M8

F10/¢102/4*M10

F10/¢102/4*M10

F12/¢p125/4*M12

F12/¢125/4*M12

F14/¢140/4*M16

F14/140/4*M16

F16/¢p165/4*M20

F16/¢165/4*M20

F16/¢p165/4*M20

11%11
14*14
14*14
17*17
17*17
2222
2222
27*27
27+27
36*36
36*36
46*46
46*46
46*46

— - R /AOBE)/B) | RS/ REK /ALK REN

18
18
21
21
26
26
31
31
40
40
50
50
60

TRERERR T

- alid

30 80

30 80

30 80

30 80

30 80

30 8o Gl/a”
30 80&130

30 80&130

30 80&130

30 130

30 130

30 130

30 130 Gl/2"

LI Aﬁl

A LEE

EESSEEE

o

[

—tT—-—-—-—e

$ﬁﬁ@nﬂ?§(mm)

;__:Fél:l

SDG-1

SDG-2

SDG-3

SDG-4

SDG-5

SDG-6

SDG-7

9I*E/R__f

2 s | Ac)
180 133 100
220 162 111
257 190 128
330 244 164
397 293 164
468 346 185

511 378 185

X NECEHATHIN

AT-063. AT-075

AT-083. AT-092
AT-105, AT-125
AT-140, AT-160
AT-190, AT-210
AT-240, AT-270

AT-300, AT-350

-

£*‘C DS.2
FO5/F07 14*14
FO7/F10 17*17
F10/F12 22*22
F12/F14/F14 27*27
F14/F16/F16 36*36
F16 46*46
F16/F25/F25 46*46

22

24

24

32

45

50

50

180

200

280

320

400

500

500

26:1

28:1

381

54:1

78:1

80:1

98:1

B IEEERAS

I;;EJEN &n "

4.5

13.7
33
45

59.5

13



-

STRAIGHT
STROKE PNEUMATIC
ACTUATOR

I 14

TIESHMITIN

H:ﬁl:[’:u:ll

BRSmMGTHREMNIEMNRIHEER
RNEABNS [HEFRCHATE TR TIWIRA, LUt
BERT SR, BRI, HELERITESITARI—RAL0.3
- 0.7MPa( R[E ) '#UERTZSAENNIR, #HESE, X
BRI ET. FEFIXARERYIREERE.

Pneumatic actuators is Zhe jiang JiaZhou Automation
Technology Co., Ltd.which introduces international
advanced straight-stroke actuator technology. It is developed
with 0.3~0.7MPa(gauge pressure)with reliable performance,
simple operation and convenient maintenance design. The
drive device that purifies the compressed air as the power
source, pushes the piston, and realizes the valve adjustment,
opening and closing functions.

BT ERSENITER
‘ BREBERSHATES
EHEBERSHNITRSR

15 I

1158 A S "= I



RIS

BRASNERINSS

General Standard Organic Combination
EffESaNITERITIRE: GB/T

12234; EF=tnfE: ExtnE GB |, HIEMRE JB, £

T &R HG, SR TAEHAT 1S05211 EfrtrtE,

HERHREERS— M, BEAERENZERE

[ERRSS.

Straight Stroke Pneumatic Actuator design
standard: GB/T 12234; flange standard: national standard
GB, mechanical department standard JB, Ministry of
Chemical Industry standard HG; structural size strictly
enforces 1S05211 international standard, and the
generalization degree is improved by one file To meet
convenient and quick installation and after-sales service.

SEIRKHED

Achieve High Thrust
SEPITEER AN E RS [T ECE Fah

HREERE, HOX, @BIIHENLRE.

The pneumatic actuator adopts a double-piston structure

pneumatic actuator equipped with a manual conversion

clutch device, which has a large thrust and no jamming
when the valve is opened.

I 16

Unique Advaji sl [

BB RE R

Integral Solution

BTSN THEESEARAES, &
BCHAIEINES. WIIERS. LR, SIRACIERS.
S/ FNPENAE, RIEEHEN4G, BIRSME
EBKTINEERRIRTTR, BEBRESRIRER,

Straight-stroke Pneumatic Actuators are
available in many different models. Optional valve position

echo, valve positioner, solenoid valve, air source processor,
gas/manual switching mechanism, hydraulic components
and other accessories can realize professional and powerful
functions. The solution can meet the needs of various

working conditions.

Z2IGE
Safe And Stable

BEfTEASHATHEZOMBEHLIREN
T, BE HEBEBRELE, T25%H, BES,
MR, AL EIRARO T I5mH O ZURARE,
FitRERI S, BiIFSRFTE IP65 Tt (Bh. BA7K) «
HESHIITREHIISEN, R EETIREFL
BFE, HRZEIREIET.
The core components of Straight-stroke
Pneumatic Actuators are finished, finely ground, honed and
hard chrome-plated. It is not easy to rust, high hardness
and strong wear resistance. The inner cylinder seal is
made of imported Dingqing oil-resistant O-ring. The sealing
performance is reliable and the protection level is in
accordance with IP65 standard (dustproof and waterproof).
If the pneumatic actuator is abnormal, it can be switched
to the manual operation mode in time and conveniently to
ensure safe and reliable operation.

\

B 15 ERAS =

AR

HEESEN
Performance Parameters

EEFRE: 0°-90°
HHHE: XERS 500 - 160000Nm
EB{EFE 500 - 40000Nm
#B{EES: S5h 3 - 10Bar
T{ERE: tof - 20°C~ + 80°C
5iR - 20°C~ + 150°C
i - 41°C~ - + 80°C
Rotation angle: 0°-90°
Output torque: Double acting 500-160000Nm
Single action 500-40000Nm
Operating pressure: Pneumatic 3-10Bar
Working temperature: Standard -20 °C ~ +80 °C

High temperature -20 °C ~ +150 °C
Low temperature -41 °C ~- + 80 °C

WHELAER SR TR

BsS
Model
400 - SR/DA - N - TM/SM

BIEHIY: MELHFH. PEMEEPREF

Affiliated institutions: screw manual
mechanism, hydraulic manual mechanism

BE: tE (H). SE M), K& )
Temperature: standard(H),

high temperature(M), low temperature(T)

ezl SUER. B{EA

Action form: double action,single action

SEHIAE: 180-800
Cylinder specifications: 180-800

17



B 15 ERAS =

T

TRELHFFN

\

AR

g lla | tructures TR iction Modules
SIHEIRIR

FméEta
AA=
FifEE Front Cover > |
FIFF Drawbar 1 —

TRENIRFEN

WEIRIEAS TR

RE R F |

SEL Cylinder
B Washer &4+ Valve Stem -—
7EZE Piston J
SE=B BETRIEASEhITES HIEN
&z Valve Cap
i®#% Valve Plate | L L L w
FETIRE Adjustment Nut EHESEASHRNTS TRE MR Fh
s
Timz Lower End Cap WEEE Valve Seat |

Fi Hand Wheel

28 Bracket
TRE MRS FD

FHARPERASIRNTESR

ERRREM RS FE

19 I

I 18



B 15 ERAS =

\

¢
- ST I

miTERIaER WIER & BRiRZERN TS
Actuator Ordering Information Double Acting & Single Piston Actuator Output Thrust

520mm &2 - BT E F AR B unit: N

4T3 - BIEEZD) 0 100mm 1752 B SM2

BWRSELTHNM - B IS FRREA - 0.3Mpa 0.4Mpa 0.5Mpa 0.6Mpa
o o ZKH series, 520mm bore single-acting TR TR A R TR A
xample spring normally closed actuator, single piston
P ngovegment, 10(})Imm e, i SM% ceF;ter Open and close Open and close Open and close Open and close
side mounted bevel gear manual mechanism,
with JS manual reduction mechanism. 125DA-1P 3312 4416 5520 6623
BETRSHHITH
pneumatic actuator 140DA-1P 4154 5539 6924 8308
R ZHUOKE AR A RAREHENBTHE 160DA-1P 5426 7235 9043 10852
Cvlinder size 520 ZHUOKE The technician selects according to
y the thrust 180DA-1P 6867 9156 11445 13734
DA| - i e Erelig 200DA-1P 8476 11304 14130 16956
FL | - WEESILL  Failure lock
M4EF Double acting 220DA-1P 10258 13678 17097 20517
FC | - HHEE  With spring )
HIESH Failure close 250DA-1P 13247 17663 22078 26494
P MYEM Double acting 280DA-1P 16617 22156 27695 33234
% FO | - W% With spring
Form of action MFEFTFF  Failure open 300DA-1P 19076 25434 31793 38151
M AEM  Double acting 320DA-1P 21704 28938 36173 43407
cCc| - kS HE  With gas tank
FEE M Failure close 350DA-1P 25964 34619 43273 51928
MAEA Double acting _
ol - b= With gas tank 380DA-1P 30606 40807 51009 61211
HEHTF Failure open 400DA-1P 33912 45216 56520 67824
- #/EEZ3 _Single piston movement 420DA-1P 37388 49851 62313 74776
RENE 2P| - FEEBS) Double piston linkage
Number of pistons 3p | - =SEZEBEZ) Three-piston linkage 450DA-1P 42920 57227 71533 85840
4P | - M7EEEZ)  Four-piston linkage 480DA-1P 48833 65111 81389 97667
P IKNOW #ARA R RERFER#TRIT
TR 10~ | IKNOW The technicians design according to 500DA-1P 52988 70650 88313 105975
Actuator stroke 2000 customer requirements
9 520DA-1P 57311 76415 95519 114623
™1 ~ MEBELFF3 (BRERE)
Manual overhead screw (easy to operate) 550DA-1P 64115 85487 106858 128230
™2 - ILRARE (TEHER ) 580DA-1P 71300 95067 118833 142600
Manual switching overhead (save space)
MEMRCNEF3 (=RUTE) 600DA-1P 76302 101736 127170 152604
TM_?KATQ/M/ - Manual overhead side mounted bevel gear
S (Three gears are optional) 620DA-1P 81474 108631 135789 162947
Manual mechanism SM1/SM2/ FREMNRPERF (=R ) 650DA-1P 89549 119399 149248 179098
SM3 - Manual central side-mounted bevel gears
(Three gears are optional) 680DA-1P 98006 130674 163343 196011
BA000/BA00/ TEMEREFZ) (RN TIE) -
BAO/BA1/ - Manual overhead side mounted turbine 700DA-1P 103856 138474 173093 207711
BA2/BA3 (Six gears are optional) 750DA-1P 119222 158963 198703 238444
B BEF3 (BBRERT )
A Manual hydraulic (with hydraulic cylinder) 800DA-1P 135648 180864 226080 271296
FRREG (#E SM F3p ) 850DA-1P 153134 204179 255223 306268
JS | Manual speed reduction mechanism
HthEe it (with SM manual) 900DA-1P 171680 228906 286133 343359
Other Accessories - .
Z)1 | FE=R _Ordinary bracket E LEHIBRMEE, —UERIE, AATRERESRER,
Z)2 | WX Regulating valve bracket Note: The above data is for reference only, and all products are subject to the actual product,The company reserves the right of final interpretation.

I 20 21



-

WIEF & BinEMNITR

i Th i 8]

Double Acting & Single Piston Actuator Output Thrust

BAf unit: N
0.3Mpa 0.4Mpa 0.5Mpa 0.6Mpa
FF 13 MR A i =FiIPYl FF 13 FI K% A TR R
Open and close Open and close Open and close Open and close

180DA-2P 13734 18312 22890 27468
200DA-2P 16956 22608 28260 33912
220DA-2P 20516 27356 34194 41034
250DA-2P 26494 35326 44156 52988
280DA-2P 23234 44312 55390 66468
300DA-2P 37152 50868 63586 76302
320DA-2P 43408 57876 72346 86814
350DA-2P 51928 69238 86546 103856
380DA-2P 61212 81614 102018 122422
400DA-2P 67824 90432 113040 135648
420DA-2P 74776 99702 124626 149552
450DA-2P 85840 114454 143066 171680
480DA-2P 97666 130222 162778 195334
500DA-2P 105976 141300 176626 211950
520DA-2P 114622 152830 191038 229246
550DA-2P 128230 170974 213716 256460
580DA-2P 142600 190134 237666 285200
600DA-2P 152604 203472 254340 305208
620DA-2P 162948 217262 271578 325894
650DA-2P 179098 238798 298496 358196
680DA-2P 196012 261348 326686 392022
700DA-2P 207712 276948 346186 415422
750DA-2P 238444 317926 397406 476888
800DA-2P 271296 361728 452160 542592
850DA-2P 306268 408358 510446 612536
900DA-2P 343360 457812 572266 686718

i U ESgRNMESE, L RSINE, AR EHREREHREN.

Note: The above data is for reference only, and all products are subject to the actual product,The company reserves the right of final interpretation.

B 22

EB{ER & R

P Al - | - |

1T8a

Tkt 78]

AR

\

B 15 ERAS =

Single Acting & Single Piston Actuator Output Thrust

EAfY unit: N
RERND | RREKRND | BERND | RRERAL | RERDSD | RREKRD | BHERND | RERKD
$p_ring Gas source S.p.ring Gas source S.p.ring Gas source S_.p.ring Gas source
minimum | maximum | minimum | maximum | minimum | maximum | minimum | maximum
force force force force force force force force
125SR-1P 1624 1688 2165 2251 2706 2814 3247 3376
140SR-1P 2037 2117 2716 2823 3395 3529 4073 4235
160SR-1P 2660 2766 3547 3688 4433 4610 5320 5532
180SR-1P 3367 3500 4489 4667 5611 5834 6733 7001
200SR-1P 4156 4322 5542 5762 6927 7203 8313 8643
220SR-1P 5029 5229 6706 6972 8382 8715 10059 10458
250SR-1P 6494 6753 8659 9004 10824 11254 12989 13505
280SR-1P 8147 8470 10862 11294 13578 14117 16293 16941
300SR-1P 9352 9724 12469 12965 15587 16206 18704 19447
320SR-1P 10641 11063 14187 14751 17734 18439 21281 22126
350SR-1P 12729 13235 16972 17647 21215 22058 25458 26470
380SR-1P 15005 15601 20006 20801 25008 26001 30009 31202
400SR-1P 16626 17286 22168 23048 27710 28810 33251 34573
420SR-1P 18330 19058 24440 25411 30550 31763 36660 38116
450SR-1P 21042 21878 28056 29171 35070 36463 42084 43756
480SR-1P 23941 24892 31921 33190 39902 41487 47882 49785
500SR-1P 25978 27010 34637 36013 43296 45017 51955 54020
520SR-1P 28097 29214 37463 38952 46829 48690 56195 58428
550SR-1P 31433 32682 41911 43576 52388 54470 62866 65364
580SR-1P 34956 36344 46608 48459 58259 60574 69911 72689
600SR-1P 37408 38894 49877 51859 62347 64823 74816 77788
620SR-1P 39944 41530 53258 55373 66572 69217 79887 83060
650SR-1P 43902 45647 58537 60862 73171 76077 87805 91293
680SR-1P 48049 49957 64064 66610 80081 83262 96097 99914
700SR-1P 50917 52939 67888 70586 84861 88232 101833 105878
750SR-1P 58450 60772 77933 81030 97416 101287 116900 121544
800SR-1P 66503 69145 88671 92193 110838 115242 133006 138290
850SR-1P 75076 78058 100101 104078 125126 130097 150151 156117
900SR-1P 84168 87512 112224 116682 140280 145853 168336 175023

E: UESRERNMEE, L RIMAE, AN EREREREN.

Note: The above data is for reference only, and all products are subject to the actual product,The company reserves the right of final interpretation.

23 I



-

WIERMITRE

Double Acting Actuator Dimensions

INERT

125DA-1P 90 55 | 185 | 3 M8x4 FO7 |100+Sx | 65 | 80 | 25 | 30 |M22x1.5| 35 | G1/4"
160DA-1P 125 70 | 220 | 3 M10x4 F10 |115+Sx| 65 | 80 | 25 | 30 |M22x1.5| 35 | G1/4"
200DA-1P 125 70 | 265 | 3 M10x4 F10 |120+Sx | 70 | 80 | 30 | 35 |M24x1.5| 35 | G1/4"
250DA-1P 150 85 | 325 | 4 M12x4 F12 | 140+Sx | 70 | 80 | 30 | 35 |M27x1.5| 35 | G3/8"
300DA-1P 150 100 | 375 | 4 M12x4 F12 | 145+Sx | 70 |100| 35 | 40 | M32x2 | 55 | G3/8"
350DA-1P | 150175 | 100 | 430 | 5 | M12x4 » M16x4 | F12/F14 |155+Sx | 70 |100| 40 | 45 | M36x2 | 55 | G1/2"
400DA-1P |175-210 | 130 | 485 | 5 | M16x4 ~ M20x4 | F14/F16|170+Sx | 75 |100| 45 | 50 | M42x2 | 55 | G1/2"
450DA-1P 210 130 | 535 | 5 M20x4 F16 |170+Sx | 75 |100| 55 | 60 | M52x2 | 65 | G1/2"
500DA-1P 300 200 | 605 | 5 M16x8 F25 |180+Sx | 75 |100| 60 | 65 | M58x2 | 65 | G1/2"
550DA-1P 300 200 | 655 | 5 M16x8 F25 |180+Sx | 85 |120| 60 | 65 | M58x2 | 65 | G1/2"
600DA-1P | 300350 | 200 | 705 | 5 | M16x8  M20x8 | F25/F30|190+Sx | 85 |120| 70 | 75 | M68x2 | 80 | G1/2"
650DA-1P | 300350 | 200 | 760 | 5 | M16x8  M20x8 | F25/F30|190+Sx | 70 |120| 70 | 75 | M68x2 | 80 | G1/2"
700DA-1P 350 200 | 810 | 5 M20x8 F30 |190+Sx | 70 |120| 75 | 85 | M68x2 | 80 | G1/2"
800DA-1P 415 230 915 | 5 M30x8 F35 |200+Sx | 75 |140| 80 | 85 | M68x2 | 80 | G3/4"
900DA-1P 415 2301020 | 5 M30x8 F35 |200+Sx | 75 |140| 80 | 85 | M68x2 | 80 | G3/4"
450DA-2P 300 200 | 535 | 5 M16x8 F25 | 230+Sx | 75 |100| 55 | 60 | M52x2 | 65 | G1/2"
500DA-2P 350 230 605 | 5 M20x8 F30 |240+Sx | 75 |100| 60 | 65 | M58x2 | 65 | G1/2"
550DA-2P 350 230 | 655 | 5 M20x8 F30 |240+Sx | 85 |120| 60 | 65 | M58x2 | 65 | G1/2"
600DA-2P 350 230 | 705 | 5 M20x8 F30 |250+Sx | 85 [120| 70 | 75 | M68x2 | 80 | G1/2"
650DA-2P 350 230 | 760 | 5 M20x8 F30 | 250+Sx 120| 70 | 75 | M68x2 | 80 | G1/2"
700DA-2P 415 230 | 810 | 5 M 0x8 F35 |260+Sx 120| 75 | 85 | M78x2 | 80 | G1/2"
800DA-2P | 350415 | 260 | 915 | 5 | M30x8 » M36x8 | F35/F40 | 320+Sx 140| 80 | 85 | M78x2 | 80 | G3/4"
900DA-2P | 350 - 415 | 260 | 1020 | 5 | M30x8 * M36x8 | F35/F40 | 320+Sx 140| 80 | 85 | M78x2 | 80 | G3/4"

E: LLESRNMEE, YIRS, A ARRE REBRREN.

Note: The above data is for reference only, and all products are subject to the actual product,The company reserves the right of final interpretation.

N 24

\

BT ERAS =

AR

BERTERINERT

Single Acting Actuator Dimensions

D
D

—

TR, N N, N N N,
st

*‘A*'f.n 1

H3

B

BERPH | SRRKD

Specﬁiﬁtion Bore Tilifmeter A 2 Spr]icggr;c;nin. (;?;X.s?grrcc:
125DA-1P 2" 200 200 265 460 715 300 5542 5762
160DA-1P 3" 220 210 285 490 745 300 6706 6972
200DA-1P 4" 250 225 315 510 765 300 8659 9004
250DA-1P 6" 300 240 375 750 1105 300 10862 11294
300DA-1P 8" 350 275 420 925 1180 300 16972 17647
350DA-1P 10" 400 300 470 1018 1408 400 22168 23048
400DA-1P 12" 450 325 520 965 1355 400 28056 29171

E LESERRESE, —ILTRIAE , AR EIREREEEN.

Note: The above data is for reference only, and all products are subject to the actual product, The company reserves the right of final interpretation.

25 I



¢
. FE

Al

B TEEERAS =
WAERRITEEIMERT WAERMITEE -TM1 TRBNHEFERNIMER ST

Double Acting Actuator Dimensions Double Acting Actuator - TM2 Overhead
Switching Manual Dimensions

200

200

60

H1

o
:F‘
+ 5 -

200DA-1P 125 70 |265| 3 M10x4 F10 |120+Sx 80|30 |35|M24x1.5|180+S | G1/4" | 300

R 250DA-1P 150 85 |325| 4 M12x4 F12 |140+Sx 80|30 |35|M27x1.5|180+S | G3/8" | 300

300DA-1P 150 100|375 4 M12x4 F12 |145+Sx| 65 |100| 35|40 | M32x2 | 180+S | G3/8" | 300

350DA-1P |150+175|100|430| 5 | M12x4 - M16x4 |F12/F14|155+Sx| 65 |100| 40 | 45 | M36x2 | 200+S | G1/2" | 450

400DA-1P |175-210|130|485| 5 | M16%x4 + M20x4 |F14/F16|170+Sx| 70 |100| 45 | 50 | M42x2 | 200+S | G1/2" | 450

450DA-1P 210 130|535| 5 M20x4 F16 |170+Sx| 70 |100| 55 | 60 | M52x2 | 250+S | G1/2" | 450

me M IR A %&tjj%f SEEN S500DA-1P 300 200|605| 5 M16x8 F25 |180+Sx| 70 |100| 60 | 65| M58x2 | 250+S | G1/2" | 600

o . R utpu .

Model Specification | Bore diameter torqpue Air pressure 550DA-1P 300 200|655| 5 M16x8 F25 |180+Sx| 70 |120| 60 | 65| M58x2 | 250+S | G1/2" | 600

450DA-2P 300 200|535| 5 M16x8 F25 |230+Sx| 70 |100| 55 | 60 | M52x2 | 250+S | G1/2" | 600
160DA-1P 3" 180 190 245 290 545 300 9664 04

500DA-2P 350 2301605| 5 M20x8 F30 |240+Sx| 70 |100| 60 | 65| M58x2 | 250+S | G1/2" | 700

AU 4 — e | as | 80 | 98 | S Sl o 550DA-2P | 350 230|655 5 M20x8 F30 |240+Sx| 75 |120) 60 | 65| M58x2 | 250+S | G1/2" | 700

250DA-1P 6" 200 200 265 360 615 300 11932 0.4 .
i DLEERMtSE, —ILUFERIMAE, AR EIREBREREN.

300DA-1P 8" 250 225 315 410 665 300 18643 04 Note: The above data is for reference only, and all products are subject to the actual product, The company reserves the right of final interpretation.
350DA-1P 10" 300 250 370 498 753 300 26847 0.4
400DA-1P 12" 350 275 415 545 935 400 36541 0.4
450DA-1P 14" 400 300 470 575 985 400 47728 04
500DA-1P 16" 450 325 520 655 1045 400 60400 04
550DA-1P 18" 500 350 570 710 1180 400 74575 04

E UESERESE, L RSaE, A AEREREMBBEN,

Note: The above data is for reference only, and all products are subject to the actual product, The company reserves the right of final interpretation.

I 26 27 I



-

WR{ERR

4= o

1Tea

Mounted Bevel Gear Manual Dimensions

200

200

60

-TM2/3/4 TREMZE=FEFHNINERT
Double Acting Actuator - TM3/4/5 Overhead Side

T T
SHEWTEHER+
I
T—
Mi:)?el DA ®C| ®D | E
350DA-1P [150 ~ 175 |100| 430 | 5 | M12x4 ~ M16x4 |F12/F14|155+Sx| 65 |100| 40 | 45 |M36x2|300+S |G1/2" 350|360
400DA-1P |175~210|130| 485 | 5 | M16x4 ~ M20x4 |F14/F16/170+Sx| 70 |100| 45 | 50 |M42x2|300+S |G1/2" 350|360
450DA-1P 210 130|535 |5 M20x4 F16 |170+Sx| 70 |100| 55 | 60 |M52x2|300+S |G1/2"|350|360
500DA-1P 300 |200| 605 | 5 M16x8 F25 |180+Sx| 70 [100| 60 | 65 |M58x2|300+S |G1/2"|350|360
550DA-1P 300 200|655 |5 M16x8 F25 |180+Sx| 70 [120| 60 | 65 |M58x2|300+S |G1/2"|350|360
600DA-1P {300 - 350 |200| 705 | 5 | M16x8 » M20x8 |F25/F30{190+Sx| 75 |120| 70 | 75 |M68x2|340+S |G1/2" 410|550
650DA-1P 300 * 350 {200/ 760 | 5 | M16x8 ~ M20x8 |F25/F30|190+Sx| 75 |120| 70 | 75 |M68x2|340+S | G1/2" 410|550
700DA-1P 350 |200| 810 | 5 M20x8 F30 |190+Sx| 75 |120| 75 | 85 |M68x2|395+S |G1/2"|500|600
800DA-1P 415 1230|915 | 5 M30x8 F35 |200+Sx| 85 [140| 80 | 85 |M68x2|395+S|G3/4"|500|600
900DA-1P 415 |230/1020| 5 M30x8 F35 |200+Sx| 85 [140| 80 | 85 |M68x2|395+S |G3/4"|500|600
450DA-2P 300 200|535 |5 M16x8 F25 |230+Sx| 70 [100| 55 | 60 |M52x2|340+S |G1/2" 410|550
500DA-2P 350 230|605 |5 M20x8 F30 |240+Sx| 70 [100| 60 | 65 |M58x2|340+S |G1/2" 410|550
550DA-2P 350 230|655 |5 M20x8 F30 |240+Sx| 75 |120| 60 | 65 |M58x2|340+S|G1/2" 410|550
600DA-2P 350 230|705 |5 M20x8 F30 |250+Sx| 75 |120| 70 | 75 |M68x2|340+S|G1/2" 410|550
650DA-2P 350 230|760 | 5 M20x8 F30 |250+Sx| 75 (120| 70 | 75 |M68x2|395+S |G1/2"|500|600
700DA-2P 415 230|810 | 5 M30x8 F35 |260+Sx| 75 (120| 75 | 85 |[M78x2|395+S |G1/2" 500|600
800DA-2P 350 * 415{260| 915 | 5 | M30x8 » M36x8 |F35/F40|320+Sx| 85 |140| 80 | 85 |M78x2|395+S | G3/4" 500|600
900DA-2P 350 ~ 415 (260/1020| 5 | M30%8 ~ M36x8 |F35/F40{350+Sx | 85 |140| 80 | 85 |[M78x2|395+S|G3/4" 500600

E: U EERNMESE, —ILRIEAE, AR EREREREN.

Note: The above data is for reference only, and all products are subject to the actual product,The company reserves the right of final interpretation.

B 28

WIERMITR

Double Acting Actuator - SM1/2/3 Center Side
Mounted Bevel Gear Manual Dimensions

-SM1/2/3 REMIZEEEFHNINMERT

ijjpAl

==
=N
Al

\

BT ERAS =

200DA-1P 235 100 265 4 |M16x4|120+S| Fl14 350 350 150 50 305 | G1/4"
250DA-1P 235 100 325 4 |M16x4|140+S| Fl14 350 350 150 50 305 | G3/8"
300DA-1P 235 100 375 4 |M16x4|145+S| Fl14 350 350 150 50 305 | G3/8"
350DA-1P 235 100 430 4 |M16x4|155+S| Fl14 350 350 150 50 305 | G1/2"
400DA-1P 320 130 485 5 |M20x4|170+S| F16 550 500 190 70 419 | G1/2"
450DA-1P 320 130 535 5 |M20x4|170+S| F16 550 500 190 70 419 | G1/2"
500DA-1P 320 130 605 5 |M20x4|180+S| F16 550 500 190 70 419 | G1/2"
550DA-1P 320 130 655 5 |M20x4|180+S| F16 550 500 190 70 419 | G1/2"
600DA-1P 480 230 705 5 |M20x8|190+S| F30 580 600 350 100 815 | G1/2"
650DA-1P 480 230 760 5 |M20x8|190+S| F30 580 600 350 100 815 | G1/2"
700DA-1P 480 230 810 5 |M20x8|190+S| F30 580 600 350 100 815 | G1/2"
800DA-1P 480 230 915 5 |M20x8|200+S| F30 580 600 350 100 815 | G3/4"
900DA-1P 480 230 | 1020 5 |M20x8|200+S| F30 580 600 350 100 815 | G3/4"
450DA-2P 320 130 535 5 |M20x4|230+S| F16 550 500 190 70 419 | G1/2"
500DA-2P 320 130 605 5 |M20x4|240+S| F16 550 500 190 70 419 | G1/2"
550DA-2P 320 130 655 5 |M20x4|240+S| F16 550 500 190 70 419 | G1/2"
600DA-2P 480 230 705 5 |M20x8|250+S| F30 580 600 350 100 815 | G1/2"
650DA-2P 480 230 760 5 |M20x8|250+S| F30 580 600 350 100 815 | G1/2"
700DA-2P 480 230 810 5 |M20x8|260+S| F30 580 600 350 100 815 | G1/2"
800DA-2P 480 230 915 5 |M20x8|320+S| F30 580 600 350 100 815 | G3/4"
900DA-2P 480 230 | 1020 5 |M20x8|320+S| F30 580 600 350 100 815 | G3/4"

E: D EERN S

%, —YIL @S, AN ERBREREFN.
Note: The above data is for reference only, and all products are subject to the actual product,The company reserves the right of final interpretation.

29 I



RIS

Faul phenomenon

@I IAEE

Inaction of valve

wERE
Inspection items
HMERAIER. LBRARA. BHECEEHEY <t
Whether the solenoid valve is normal, the coil is burnt out,
and the solenoid spool is stuck by dirt.

AT

Solutions

iR, EiRE. BRI
Replace the solenoid valve, replace the
coil, remove dirt

YHATRREMMS, ERIEETIF, MSHBSRIER, FHH
ITRMEEIHRESIRR, SIAREESRIR

Supply air to the actuator separately, whether it works
normally, if the cylinder string is not normal, disassemble
the actuator to check whether the seal is damaged, and
whether the inner surface of the cylinder is damaged.

BRERENE, RS
Replace the bad seal and replace the
cylinder

ERBEZREEIKORE BN IRET R R
There are impurities in the valve to get stuck in the core Removal of impurity replacement valve
FaRM ARG EFE BFRIREIEmE

The handle of the manual operating mechanism is in the
manual position

Move the handle to the automatic
position

& T EIREC T
The valve moves
slowly and crawls

SIRENDRE EINSIRES
Air pressure is not enough Increase air supply pressure
SEATRRES IR/ EAHRITRR R SAUE

Pneumatic actuator thrust is too small

lincrease actuator model specifications

AR SE R R ARSI
Valve spool or other valve assembly is too tight and
unreasonable

1EIEES, REHED

Repair assembly, adjust thrust

SREREERET /) HEpRiEER
Air source line blocked flow is too small Eliminate blockage
(SSHIRKE. 8. M HEASFEIREES
Signal power line, short circuit, open circuit Repair power line
EERES s ARV E RS
No signal of EI%\ME?F’ET@ . Adjust the concave wheel to the
t The position of the concave wheel is not accurate o
ransponder correct position
ENFFRITIA SEHRANTTR

Micro switch damage

Replace the micro switch

I 30

Common FaultsiEL [

g T T T241,, g Methods
w ABIEHIHEER i

EEIRSS Aftersales service

AREFRAGE ZBE—FRLT "=8"  EFE
TR, ERTREPEERARGSHSHIEGE, FS
IABRIRE R AU AEE !

The company's products will be implemented within three
years from the date of delivery. If the customer needs technical
consultation or troubleshooting during the order inspection and
use, we will be the fastest speed. Solve your problems!

HmLEE M

1158 A S "= I

SHBERSEINITES
EQ:ELEES

31



I 32

—. LER#E
WAE AT A% LA R
&,
B
DASTIR R SEnthiTas
Single cylinder fork pneumatic actuator
Y 2" ®
E_ E
- =3 L o Iy Y
/
M | Gk
DAL SEnthiTas

Double cylinder fork pneumatic actuator

LEESFENSFLARNSER , EES—USIHENSELSEIN- -USFE)HERE | RIS
REthEs , LRSI I4TH. EFREERE , EESIENSFLB)HNSER , FES—NUSENSIL
(AHEEH | NERNEERTT A7) |, K EEIRTHRIME EHhess | LRt IxiE.

BARR TR TR R

SRERETIRZ X SENURE

Single cylinder fork pneumatlc butterfly valve

LBRERSTHRLETREERE , NESEHSEHEN | IKERRSEERAREEER
XTI RN A SEIMR T i, SRS S INSELANSILA BN ERAMSIHENSILE)HEL | #
EEEFAIMUREE , HER SRS EIERE | RIRE4EEE |, WHRRI) SEE=SASEAN
SHLAVERET | 398 BRI HER IR EHhest |, EEAMSFE)HSTFESE , SSHEI)
ESEi

= ZTHReER

alic Pump Assembly

TFRHTEE
LR

Dauble Acting Actuator
Hydraufic Module

TEEIEIER

=, EfRERE

1. FFoR A i

ijjpAl

==
=N
Al

\

B 15 ERAS =

HIDER
— E——F Rz
Spring manual module
— %% | [t
N
% oring Module
| ZIlIN 7
[ =]
0 Ig,ﬂﬁu., e I%Efj%ﬁ
B

BRASEFFE Limit Switch

BERER X SR TR NEENH O S E =R BRI R (B HREX |,
A ECIERSIRBLRAIFTR) . HEEHEARIZEREIBARES , BT
AERSE BN EE B TG, LI E Rk,

Heavy-Duty Pneumatic Actuator can be equipped with imported or.
domestic explosion-proof limit switch (if it is special, it can also be
equipped with non- explosion-proof limit switch), which is convenient for
operation and maintenance personnel to grasp the valve opening and
closing state at the same time. The valve opening and closing position
information is transmitted remotely in time to realize intelligent control.

SEE=F#% Gas Source Treatment Triple Plece

BRI SHTERBREEETSRER. TiEss. MERNSIRGET
HREMRENSIR=8MY | BEETIMSIREDNEE , XBISIRE
ELRRERERARBERZSRNSR , ERETEFRARBEERES
R SIEEEETSFRIKO RN ERES | BIRIIAREPIMEIEE |
IR EEREw, ME RS NERREIEERTSF | AEETTHE
AEEBEH.

The fork pneumatic actuator is provided with a gas source triple piece
equipped with an air pressure reducing valve, a filter and a gas mist
processing device, and the pressure reducing valve can adjust the air
source pressure to achieve a constant gas source;the filter The main
functlon is to clean the contaminated gas source. The main function of
the filter is to clean the compressed gas source, filter the moisture and
dust impurities in the compressed air, ensure the internal environment of
the cylinder is stable, and extend the service life of the equipment; the oil
mister will oll It becomes an oll mist and is added to compressed air to
provide lubricant for pneumatic components.

33



\

B 15 ERAS =

AR

BT AR R
SIEE
2. T PR EC Bk A 55 4Bar 5Bar 6Bar
e 181" J%E(Z88 Valve Locator 5/ IS B/ IS /N ISPN B/ ISP
BHREENSHAGEREEOSERPRESEQCS B 0-2505R 598 1286 368 856 531 1219 896 1584
AmA-20mMARBRES | i mB(EESsCIiEEI S EH1TE80%-100% 1-300SR 1270 2496 402 1235 599 1825 1844 2665
A o = o 7= =Ry
SATIENE | RITREROESKE. 2-3005R 1610 2585 660 1430 972 1947 1683 2658
Heavy-Duty Pneumatic Actuator is equipped with imported intelligent 2-400SR 2014 3021 754 3045 2973 4312 3799 5574
explosion-proof electric positioner. It receives 4mA-20mA current signal
and converts it into output signal to realize the control of pneumatic 3-400SR 2531 5321 1313 3536 3302 5055 4567 6574
01000, . ] ; .
\ ) szuritecjr 0%-100% full stroke action. It is the main actuator. Signal 3 450SR 3904 6209 1325 1485 3489 6408 5395 8330
4-450SR 4556 8496 1480 5265 3782 7721 6236 10176
E3f£H The Electromagnetic Valve 4-500SR 5406 10812 2038 6719 4345 9751 7376 12782
(" ) FEAE W S TRES A B |, BBEAC220VEDC24V, 18 4-550SR 6333 12357 2315 8339 5983 12007 9651 15675
BIFNAFRIRELEEREE , RIS SIRE NS SESi%, 4-600SR 7471 15057 2404 9990 6769 14355 11134 18720
%;Iﬁg%m/ﬂ\g{ﬁtﬁﬂ;{nﬁU:Tﬁiﬁaélvﬁ/,\iﬁ%w:;ﬂl?élﬂiﬁﬂﬁ 5-600SR 8763 17138 4876 13251 10500 18875 15883 24258
SRR — ML HFRRTIRI ITTT , B—MEBIEREIIXE
Z,Z _ o * I,ﬁ .A N R T jj ! Ab. . . % 5-650SR 11295 19085 6751 14541 13352 21142 19669 27459
FHpEE , RFHEIKTEE , BEAICIZIEE.
Heavy-Duty Pneumatic Actuator is equipped with single and double control, 5_T00SR 14022 21422 8542 15942 16197 23597 23524 30924
voltage AC220V or DC24V,explosion-proof and non-explosion-proof
\ / solenoid valves, used to control the gas source to enter the cylinder gas
circuit. Ay
Remark: Single control solenoid valve: the valve s opened or closed T Mﬂ'%%%
when the coil: is powered, and. the valve is closed or opened when the B
power. is off. Double-control golenoid valve: When one coll is powered, f'—-'-t:::";;“
the valve is opened,and when the other coil is energized, the valve is . - 1 M F 55 i 1 i
closed, no need for long-term energization, only the pulse voltage is | | "d | |

supplled, and the memory function: is provided.

i
a
T

. ABESHE

N 34

fH=No EZ¥FName HEIMaterial
iﬁﬂ:ﬂﬂ;ﬁﬁfﬂ%ﬁﬁ 1 #rebolt Wt Carbon Steel
o %ﬁ)j_‘ijj 2 Hi= Cover ﬁ@ Carbon Steel
M= 3 HLEE Cylinder Cap HEEEEH Ductile ron
3Bar 4Bar bBar 6Bar TBar 4 3EEEEL Spring cylinder il Carbon Steel
0-200DA 698 884 1163 1396 1628 5 S%%8 Spring 39S IW Spring Steel
B EFHIAT Spring Stem 4l Carbon Steel
0-250DA 1090 1454 1817 2182 2544 7 SFE K Spring bottom cover M Carbon Steel
8 iftEbolt Wit Carbon Steel
1-250DA 1286 1715 2144 2572 3001 9 #ik Center Body 541 Cast steel
_ 10 MEERIFF Spring Stem g Carbon Steel
17300DA 1852 2470 3087 3705 4322 11 SEISm#ECylinder guide cover BREREFEE Ductile ron
2-300DA 2134 2845 3557 4268 4980 12 OHBEO—Ring T AHEEINBR
13 j52E Piston BREREER: Ductile Iron
2-350DA 2905 3873 4841 5810 6778 14 S5 Guide Ring EREEHIEE Resin
2-400DA 3794 5059 6323 7588 8853 15 S24T Scraw B8 Carbon Steel
16 fl{&% Center Body B ARk )
3-400DA 4556 6075 7594 9113 10632 17 OBIEO —Ring TSt EINBR
18 #1355 Cylinder Cap BREEESEE Ductile ron
3-450DA 5767 7689 9612 11534 13456 19 Eigbolt BBCarbon steel
4-450DA 7366 9821 12277 14732 17188 20 28 Screw Nut Bt Carbon Steel
24 §hi= Bearing HE S &Steel base alloy
4-500DA 9094 12125 15157 18188 21220 22 S Foke 5t Cast steel
- 23 iE=EEindicator il Carbon Steel
4-600DA 13095 17461 21826 26191 30557 24 =#Cover BEEEEESE Ductile Iron
25 i#ebolt &ifFCarbon steel
286 SniEHRGuide slider FripAn=aaSpecial aviation aluminum

35 I



B 36

®
2

N~ WIS AR R T

(1) [R5

L. E0RR ) FEAG A A AR, o B 7 2 i IR 5 480 20 My 5 R e
PR EE,

(2) WRALE. Bhikek+1E

L A A 3% RG0SR 1R I8 2% 1) TAEAR I

2. K2 A B B AR

3. EE SRR A, R TAE.

4 PREVRR], FRRT AR RAR 5 5 A 2 1) B 4 B R AR SRR
(3) 3 ZEML W WL (%) Ji7 D] B A B

LAREREERZE, BNEKR.
—RTEE ST, EERET AR

2 G EABERAL, AEE .

—— I 2R i FE IR

3 IEEEIR N ST, IEER SR E WA RS R E, SRS
—— VMR, DTG SERE R R, AR R .
4. B I R I e A, A R AR T R
——HRHE A LRI BEIR B, ERT R E M R I IR
5. ff FH B I, 3 kg e 2 1 Bl 2 1k

—— S WA B A

(4 PATHLR

L. o 25 iy 2 MRS R TR A AR SN, R [ 5 MBS

2. K EEIGJE G 9E O RUPE R BIRIN, TG EEHIT,

(5) BATHIMBIEAR RiE
LAERIERSESE. SRR, THFELRAE

2. ENL A AR, AT B e A A8

A RIEJJBEENK, PATHUSEI IR AN, B HIRAT L

4 R E LIRS PATHIIRS, ERAERE, 4BaEk.
(6) PATHLI R

L BhANGE ZEAH) & A A AL, A, BIVRIBILR, 4 Hikie.
2. ENLHA W, KA AL A .

SERESRI R SR, PR, WEHEAY, .
(1) PATHURY R AFIAL

L HATHL . (R BB M 3RS, THRIR A

2. RN Y, TERIBIEN 2.

(8) ZATHENAK

LA E R SWEIEST

2. KA A B B AR

3. TR A, R AR

. RN

A AEAT SRR N e b ERTEREINK, HAZIT REORBHTRGE, H P T
BN, ML BT TS05211 bRifE, W] ELHE 23 S04

B. ITITRAEHE G ZAG &7 i AT BAMRIR, TR E 2 555 4, Rl i K 1] 47 i

\

AR

Ja B B A 4R 5 4 R] DL A A

C. PATHS IR LA il NAZR B 5 0%, A& 755 W] B e 31 0 I 2R AT 6

D. AEEPAT &5 IR TER N SOANE R R B AR, ZARE R R 782 5

E. Wi RS/ FEh UG o PATER2H)5, RAZA TN TARRES R &5 L eE, B
1R ERAE

F. i Tl eV IR T IE R S A ORI BOR AR GRHD BITid 2, fF
il — AT AR “B-F3h 7 DIk

G. WEES/ TRV, PR, ol A AR S G (el ]
) HE (FERELAARRTERIEL T FahiREIATIR G H 2T s iR
H. Qe A3/ FaiUble, i Fieiens, AMef gk, BAWE AN T RAR A
TR L

BT ERAS =

BB A

N T AN AR R RG22 4, SRR A= il 45 b BE I8 7 22 A 2 T

D5 P AT R A T 08 SRR AT it RAE I N S BBk, ARG TR, TFE4EEDE0E
A7, IEERR AR,

JE ERE RS R R T 2 B 18 ANH, s A R T R RS PR

FEER BB, R R R R A= 1 ] R FTR R 2 4
=P AT R A A B R AT S T 7 A 0 )
B IEHE T, TR A A )
—HER I 7 A S G R A P T A P 1 A
=B IR 2 BT = A Y 1)
“kge, MR, B, HOK, FHEART AR RERRL, RE, BURRES R K MR =AY )

i
FE R T SR R AR A SIS A A 7 AU R B3R A Al &

37



	页 1
	页 2
	页 3
	页 4
	页 5
	页 6
	页 7
	页 8
	页 9
	页 10
	页 11
	页 12
	页 13
	页 14
	页 15
	页 16
	页 17
	页 18
	页 19
	页 20

